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Which one of the following is considered
as ‘good cholesterol’ with reference to
individuals facing the risk of cardio-vascular
diseases and hypertension ? ‘

(a) High Density Lipoprotein (HDL)
(b)
(c)
(d)

Low Density Lipoprotein (LDL)
Triglyceride
Fatty acids

Which of the following pairs of vitamin
and disease is / are correctly matched.?

1. Vitamin A Rickets
2. Vitamin B, Beriberi
3. Vitamin C Scurvy

Select the correct answer using the code
given below :

(a) 2only

(b) 2 and 3 only
(©)
(d) 1,2and3

1 and 3 only

The rate of change of momentum of a body
is equal to the resultant ;

(a) energy

(b) power

(c) force

(d) impulse

After a hot sunny day, people sprinkle water
on the roof-top because :

(a)

water helps air around the roof-top to
absorb the heat instantly

(b)
(©)
(d)

water has lower specific heat capacity
water is easily available

water has large latent heat of
vaporisation

2

Consider the following map of India :

The areas marked in the map given above

account for the production of which one of
the following cash crops ?

(a) Cotton

(b) - Groundnut
(c) Sugarcane
(d) Tobacco

Pir Panjal Range in the Himalayas is a part
of :

(a) Shiwalik

(b) Trans Himalaya
(c) Central Himalaya
(d) Lesser Himalaya

Consider the following statements regarding
laterite soils of India :

1. Laterite soils are generally red in colour

2. Laterite soils are rich in nitrogen and
potash

3. Laterite soils are well developed in
Rajasthan and UP

4. Tapioca and cashew nuts grow well in
this soil

Which of the statements given above is /

are correct?

(a) 1 only

(b) 2,3and4

(c) 1and4only

(d 1,2and4

(Contd.)
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Which of the follbwing statements
regarding Mediterranean and Monsoon
climate is / are correct ?

1.  Precipitation in Mediterranean climate
is in winter while in Monsoon climate
it is mostly in summer

2. The annual range of temperature in
Mediterranean climate is higher than
the Monsoon climate

3. Rainy and dry seasons are found in
both the climates

Select the correct answer using the code
given below :

(a) 1only

(b) 2 and 3 only
(c) 1and3 only
(d) 1,2and3

The handle of pressure cookers is made of
plastic because¢ it should be made non-
conductor of heat. The plastic used there 1s
the first man-made plastic, which is :

(a) Polythene
(b) Terylene
(c) Nylon

(d) Bakelite

Methyl Isocyanate gas, which was involved
in the disaster in Bhopal in December 1984,
was used in the Union Carbide factory for
production of :

(a) Dyes

(b) Detergents
(¢) Explosives
(d) Pesticides

The Germplasm is required for the
propagation of plants and animals.
Germplasm is the :

1. genetic resources

2. seeds or tissues for breeding

3. egg and sperm repository

4. agerm cell’s determining zone

Select the correct answer using the code
given below :

(a) 1only

(b) 1,2and3
(c) 2 and 3 only
(d) 2and4

Join Telégram ; http's://t.me/defenceekaksha
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Dengue virus is known to cause low
platelet count in blood of patient by :

1. interfering in the process of platelet
production in bone marrow

2. infecting endothelial cells
3. binding with platelets
4. accumulating platelets in intestine

Select the correct answer using the code
given below :

(a) 1and?2only

(b) 1and3 only
n(c) 3and4

(d) 1,2and3

The SI unit of mechanical power is :
(a) Joule

(b) Watt

(c¢) Newton-second

(d) Joulc-second

Two systems are said to be in thermal
equilibrium if and only if : =

(a) \ therecan be a heat flow between them
even if they are at different
temperatures

there cannot be a heat flow between
them even if they are at different
temperatures

there is no heat flow between them
their temperatures are slightly different

(b)

(©
(d)

‘German silver’ is used to make decorative
articles, coinage metal, ornaments etc. The
name is given because :

(a) it is an alloy of copper and contains
silver as one of its components
(b)

Germans were the first to use silver
(c) its appearance is like silver
(d)

it is an alloy of silver
Plants contain a variety of sterols like
stigmasterol, ergosterol, sitosterol etc.,
which very closely resemble cholesterol.
These plant sterols are referred as :

(a)  Phytosterols
(b) Calciferols

(c) Ergocalciferols
(d) Lumisterols

(Contd.)
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With which one of the following countries,
India has signed an MoU under the
International Cooperation on Brahmaputra
and Sutlyj rivers ?

(a) Pakistan

(b) China

(c) Bangladesh

(d) Nepal

Headquarters of which one among the
following Railway Zones in India is situated at

the highest elevation from the mean sealevel 7

(a) East Central Railway
(b) South Eastern Railway
(¢) South Western Railway
(d) West Central Railway

Stalactites and/stalagmites are features of: '

(a) glacial topography

(b) volcanic topography

(c) karst topography

(d) fluvial topography

Which one of' the following is the correct

seguence of the given planets in increasing
order of their size (diameter) ?

(a) Mars - Venus - Earth - Mercury -
Uranus

(b) Mercury - Mars - Venus - Earth -
Uranus

(¢) Mercury - Mars - Venus - Uranus -
Earth

(d) Venus - Mercury - Mars - Earth -
Uranus |

In artificial insemination (Al) process,
which of the following is / are introduced
into the uterus of the_female ?

(a) Eggonly

(b) Fertilized egg

(c) Sperm only

(d) Eggand sperm

Genetically modified (GM) crops contain
modified genetic material due to :

1. introduction of new DNA

2. removal of existing DNA

3. introduction of RNA

4. introduction of new traits

Select the correct answer using the code
given below:

(a) 1and2only

(b) 1,2and3

(c) 3and4

(d 1,2and4

6
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Which one of the following statements is
correct ? The velocity of sound :

(a) does not depend upon the nature of
media

(b) is maximum in gases and minimum in
liquids '

(c) is maximum in solids and minimum

in liquids -

(d) is maximum in solids and minimum

in gases

Which one of the following statements is
not correct?

(a) Sound waves in gases are longitudinal
In nature
(b)

Sound waves having {requency below
20 Hz are known as ultrasonic waves

(c)

(d)

Sound waves having higher amplitudes
are louder

Sound waves with high audible
frequencies are sharp

Which one.of the following vitamins has a
role in‘blood clotting ?

(a) Mitamin A

(b) - Vitamin B

(¢) WVitamin D

(d) VitaminK

~Vitamin B, deficiency causes pernicious

anemia. Animals cannot synthesize vitamin
B,,. Humans must obtain all their vitamin
B,, from their dict. The complexing metal
ion in vitamin B , i

{a) Mg*" (Magnesium ion)

(b) FEe*' (Tron ion)

(¢) “Co’* (Cobalt ion)

(d) Zn*' (Zingion)

Consider thefellowing statements :

1. Most of the coal and the ferrous group
of minerals in India occur in the
peninsula, south of the Vindhyas

2. The peninsular India once formed part
of the super-continent which included
Australia, Antarctica, Africa and South
America

Which of the statements given above is /
are correct ?

(a) 1only

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

(Contd.)
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The Mahatma Gandhi National Marine Park
is located in : :

(a) Pirotan Island

(b) Rameswaram

(c) Ganga Sagar Island
(d) Port Blair

Which of the following statements is / are
correct ?

1. The earth is nearest to the Sun at
Perihelion, which generally occurs on
January 3

2. Theearthis farthest away from the Sun
at Perihelion, which generally occurs
on July 4

3. The earth is farthest away from the Sun
at Aphelion, which generally occurs on
July 4

4. The earth is nearest to the Sun at
Aphelion, which generally occurs on
January 3

Select the correct answer using the code
given below :

(a) 1only

(b) 2and4
(¢) land3
(d) land2

Which one of the following islands is of
volcanic origin ?

(a) Reunion island

(b) Andaman & Nicobar islands
(¢) Lakshadweep islands

(d) Maldives

Glucose is a source of energy. Which one
of the following types of melecule is
Glucose ?

(a) Carbohydrate
(b) Protein

(c) Fat

(d) Nucleic acid

The living content of cell is called
protoplasm. It is composed of :

(a) Cytoplasm only
(b) Cytoplasm and nucleoplasm
(c) Nucleoplasm only

(d) Cytoplasm, nucleoplasm and other
organelles

8

33.

34.

355

36.

a’.

38.

Norman Borlaug won Nobel Peace Prize for
his contributions in :

1. development of high-yielding crops.

2. modernization of  irrigation
infrastructure.

3. introduction of synthetic fertilizers and
pesticides.

Select the correct answer using the code
given below: '

(a) 1only

(b) 2 only

(¢) 2and 3 only

(d 1,2and3

Avmyopic person has a power of —1.25

Dioptre. What is the focallength and nature
of his lens ?

(a) 50 cm and convex lens

(b) 80 cm and convex lens

(¢) 50 cm and concave lens

(d)' 80 cm and concave lens

A piece ofice, 100 g inmass is kept at 0 °C.
The amount of heat it requires to melt at

0 °C is (take latent heat of melting of ice to
be 333.6 J/g):

(a) 750.61]

(b) 8341

(c) 3336017

(d) 3.3361J

Which one of the following hormones
contains peptide chain?

(a) Oxytocin

(b) Corticotropin

(c) Imsulin

(d) Cortisone

Which one of the following is an example
of chemical change ?

(a) Burning of paper

(b) Magnetization of soft iron

(¢) Dissolution of cane sugar in water
(d) Preparation of ice cubes from water
Which one of the following is the cause of
long-term sea-level change?

(a) Atmospheric disturbance

(b) Change in marine water density

(c) Melting of icebergs

(d) Melting of ice sheets

(Contd.)
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Consider the following tributaries of river 44,
Brahmaputra :
1. Lohit
2. Tista
3. Subansiri
4. Sankosh
Arrange the above rivers from west to east:
(a) 2-4-3-1
(b) 2-3-4-1 45
(c) 4-2-3-1
(d) 3-1-2-4
Which one of the following is the reason
due to which the wind in the southern
hemisphere is deflected towards its left ?
(a) Difference in_the water masses of
northern andSouthern hemisphere
(b) Temperature and pressure variations
(c) Inclined axis of the Earth
(d) Rotation of the Earth dg
The ‘eye’ of the cyclone has : '
(a) abnormally high temperature and
lowest pressure
(b) abnormally low temperature and
pressure
(c) clear sky and lowest temperature
(d) dense cloud cover and low pressure
Which of the following statements is / are
correct ? :
1. Acid rain reacts with buildings made
from limestone
2. Burning of sulphur containing coal can
contribute to acid rain
3.  Eutrophication is an effective measure
to control pollution
Select the correct answer using the code 47
given below : ’
(a) 1 and2 only
(b) 2 and 3 only
(c) 1only
(d) 1,2and3
Which one of the following statements
about bar magnet is correct ?
(a) The pole strength of the north-pole of
a bar magnet is larger than that of the
south-pole ‘_
(b) When a piece of bar magnet is bisected
perpendicular to its axis, the north and
south poles get separated
(c) Whena piece of bar magnet is bisected
perpendicular to its axis, two new bar
magnets are formed
(d) The poles of a bar magnet are unequal
in magnitude and opposite in nature
10

Which one of the following statements is
not correct?

(a) Hydrogen is an element
(b) Hydrogen is the lightest element
(c) Hydrogen has no isotopes

(d) Hydrogen and oxygen form an
explosive mixture

. Which one of the following statements is

not correct?

(a) Atoms of different elements may have
same mass numbers
(b)

Atoms of an element may have
different mass numbers

(c)

(d)

All the atoms of anelement have same
number of protons

All the atoms of an elementwill always
have same number of neutrons

Which of the following statements regarding
chemical industry in India is / are correct ?

1. Chemical industry is one of the oldest
industries in India

2. - Dyestutf sector is one of the important
segments of chemical industry

3. - Textile industry accounts for the largest
consumption of dyestuffs

Select the correct answer using the code
given below :

(a) 1 only

(b) 2 and 3 only
(c) 1and3 only
(d) 1,2and3

Which of the following statements about
India’s scientific and research mission in
Antarctica is / are correct?

1. The first scientific base station in
Antarctica was Dakshin Gangotri

2. Dakshin Gangotri is now being used
as supply base and transit camp

3. The Maitri station is manned
throughout the year for scientific
activities

Select the correct answer using the code
given below :

(a) 1only

(b) 2and 3 only
(¢) 1and?2only
(d 1,2and3

(Contd.)
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The synthetic rubber has replaced natural
rubber for domestic and industrial purposes.
Which one of the following is the main
reason behind that ?

(a) Natural rubber is unable to meet the
growing demand of different industries
(b)

Natural rubber is grown in tropical
countries only

(c)

(d)

Raw material for synthetic rubber is
casily available
Natural rubber is not durable
A person rings a metallic bell near a strong
concrete wall. He hears the echo aftet
0.3 s. If the sound moves with a speed of
340 m/s, how far isthewall from him?
(a) 102 m
(b) 1lm

(c) S5Im
(d) 30m

Arrange the following popular hill stations
of India in terms of their height (from
highest to the lowest) from the mean sca
level :

1. Mussoorie
2. Shimla

3. Ooty

4. Darjeeling

Select the correet answer using the code
given below :

(a) 3-2-4-1
(b) 3-1-4-2
(c) 2-3-4-1
d) 2-4-1-3

Consider the following statements :

1. In Hind Swaraj, Mahatma Gandhi
formulates a conception of 'good life
for the individual as well as the society

2. Hind Swaraj was the outcome of the
experience of Gandhi’s prolonged
struggle against Colonial Raj in India

Which of the statements given above is /
are correct 7

(a) lonly

(b) 2only

(¢) Both 1 and?2
(d) Neither 1 nor 2

12

52,

53,

54.

ot

- (b)

Which of the following is / are
Constitutional Body / Bodies ?

1. National Commission for Scheduled
Tribes

2. National Commission for Women

3. National Commission for Minorities
4. National Human Rights Commission
Select the correct answer using the code
given below :

(a) 1 only

1,3 and 4 only

(¢) 3and4only

(d 1,2,3and 4

Which of the following-statements relating
to.the Bandung Conference on Afro-Asian
Resurgence (1955) are correct,?

1. Bandung Conference was organized by
Indonesia, Myanmar (Burma), Ceylon
(Sri Lanka), India, and Pakistan in
which 29 countries representing more
than half of the world’s population sent
delegates

| 2. The Conference reflected the five

sponsors’ dissatisfaction with what
they regarded as a reluctance by the
Western powers to consult with them
on decisions affecting Asia

3. The Conference was concerned over
tension between the People’s Republic
of China and the United States

Select the correct answer using the code

given below :

(a) 1and?2only

(b) 2and 3 only

(¢) 1and3 only

(d) 1,2and3 ‘

Who among the following archaeologists

was the first to identify similarities between

a pre-Harappan culture and the mature
Harappan culture ?

(a) Amalananda Ghosh
(b) Rakhaldas Banerji
(c) Daya Ram Sahni
(d) Sir John Marshall

Which one of the following is the common

element between the Kailasanatha Temple

at Ellora and the Shore Temple at

Mamallapuram ?

(a) Both are examples of Nagara
architecture

(b) Both are carved out from solid rocks

(c) Both are Gupta period temples

(d)

Both were built under the patronage of
Pallava Kings
(Contd.)
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Which of the following is / are not depicted
in the Rajput paintings ?

1. The stories of Krishna

2. Ragas and Raginis

3. The deeds of Hamza

4. The deeds of Babur

Select the correct answer using the code
given below :

(a) 1,2and3
(b) 2,3and 4
(¢) 3 and4 only
(d) 4 only

Which one of the Five'Year Plans had a high
priority to bring inflation under control and
to achieve stability in the economic situation ?

(a) Fourth Plan (1969-74)
(b) Fifth Plan (1974-79)

(c) Sixth Plan (1980-85)
(d) Seventh Plan (1985-90)

Which of the following statement(s) is / are
true with respect to Phillips Curve 7

1. It shows the trade-off between
unemployment and inflation

2. The downward sloping curve of
Phillips Curve is generally held to be
valid only inthe short run

3. In the long run, Phillips Curve is
usually thought to be horizontal at the
non-accelerating inflation rate/of
unemployment (NAIRU)

Select the correct answer using the code
given below :

(a) 1only

(b) 2 and3 only
(¢) 1and2only
(d 1,2and3

Which one of the following nations is not a
member of the Eurasian Economic Union ?

(a) Belarus
(b) Russia
(¢) Kazakhstan
(d) Uzbekistan

61.

62.

63.

64.

14

BRICS leaders signed the agreement to
establish a New Development Bank at the
summit held in : ‘

(a) New Delhi, India (2012)

(b) Durban, South Africa (2013)
(¢) Fortaleza, Brazil (2014)

(d) Ufa, Russia (2015)

gltgishu, Kishor and Tarun are the schemes

(a)
(b)

(©)
(d)

Consider the following statemenis :

1. The President.of India shall have the

gower to appoint and remove the
peaker of Lok Sabha

2. The Speaker has to discharge the
functions of his office himself
throughout his térm and cannot
deicgate“his functions to the Deputy
Speaker during his absence from the
station or during his illness

Which of the statements given above is /

are correct ?

(a) 1 only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor2

The Second Administrative Reforms

Commission (2005) was concerned with :

(a) reforms in institutionalarrangements
for good governance

(b) reforms in the Indian Penal Code and
the Criminal Justice System

(c)  ereating an ombudsman mechanism for

- reduction of corruption in public life

(d) devising néw measures for urban
governance and management

As per the Constitution of India, the Writ of

Prohibition relates to an order :

1. issued against judicial and quasi-
judicial authority '

2. to prohibit an inferior Court from
proceeding in a particular case where
1t has no jurisdiction to try

3. to restrain a person from holding a
public office to which he is not entitled

Select the correct answer using the code
iven below :

Regional Rural Banks.

Micro Units Development &
Refinance Agency Ltd. (MUDRA).

Small Industries Development Bank of
India.

Industrial DevelopmeéntBank of India.

a) 1and?2only
b) 2 and 3 only
c) 1only

d) 1,2and3

(Contd.)
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N

Which one among the following was not 69.

an attribute of Samudragupta described in
Prayag Prashasti ?

(a) Sharp and polished intellect

(b) Accomplished sculptor

(¢) Fine musical performances

(d) Poetical talent of a genius 70

Kamandaka’s Nitisara is a contribution to :
(a) Logic and Philosophy

(b) Mathematics

(¢) Political morality

(d) Grammar

71,

The Lilavati of Bhaskara is a standard text
on;

(a) Mathematics
(b) Surgery

(c) Poetics

(d) Linguistics

12.

Which of the following statement(s) are true

with respect 'to the concept of

‘EFFICIENCY’ 'as used in mainstream

economics ?

1. Efficiency oecurs when no possible
reorganisation of production can make
anyone better off without making
someone else worse off

2. Aneconomyis clearly inefficient if it
is inside the Production Possibility
Frontier (PPF)

3. At a minimum, an efficient economy

is on its Production PossibilityFrontier ~ 73:

(PPF)

4. The terms such as ‘Pareto Efficiency’,
‘Pareto Optimality’ and ‘Allocative
Efficiency’ are all essentially one and
the same which denote ‘efficiency in
resource allocation’

Select the correct answer using the code
given below :

(a) land4 only
(b) 1and 3 only
(¢) 2and 3 only
(d) 1,2,3and4

s

The first summit of the Forum for India-
Pacific Islands Cooperation (FIPIC) was
held in :

(a) Jaipur

(b) Suva

(¢) New Delhi

(d) Port Moresby

. Which one of the following island nations

went for Parliamentary elections in the
month of August 2015 7

(a) Maldives

(b) Fiji

(¢) SriLanka

(d)_Singapore

Which one of the following nations has faced
severe economic erisis in the year 2015

resulting in default in repayment of IMF
loan?

(a) China

(b) Greece

(c) Ircland

(d) Belgium _

Who among the following Prime Ministers

of India were defeated by a vote of No
Confidence ?

1.  Morarji Desai

2. Viswanath Pratap Singh
3. H.D. Deve Gowda

4.  Atal Bihari Vajpayee

Select the correct answer using the code
given below :

(a) 1,2,3and4
(b) 1,2 and 3 only
(c) 2,3 and 4 only
(d) 1and4 only

Which of the following statements regarding
Rajya Sabhais / are correct 7

1. The maximum permissible strength of
Rajya Sabha is 250

2. In Rajya Sabha, 238 members are
elected indirectly from the States and
Union Territories

3. Itshares legislative powers equally with
Lok Sabha in matters such as creation
of All India Services

Select the correct answer using the code
given below :

(a) 1and?2 only
(b) 1,2and3
(¢) 2and 3 only
(d) 1only
(Contd.)
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Which of the following statements relating
to the office of the President of India are
correct ?

1. The President has the power to grant
pardon to a criminal in special cases

2. The President can promulgate
ordinances even when the Parliament
is in session

3. The President can dissolve the Rajya
Sabha during emergency

4. The President has the power to
nominate two members in the Lok
Sabha from the Anglo Indian
community

Select the correct answer using the code
given below :

(a) land2

(b) 1and4 only

(c¢) 3 and4 only

(d 1,3and4

The followers of Gorakhnath were called :
(a) Jogis

(b) Nath-Panthis

(c) Tantriks

(d) Sanyasis

What were the 12 states of the Sikh
confederacy called ?

(a) Misl

(b) Gurmata

(c) Sardari

(d) Rakhi

Which of the 'statements given below is /
are correct ?

1. The ideal of a common givil code is
set forth in Article’ 44 of the
Constitution of India

2. In certain respects, the High Courts in
India have been given more extensive
powers than the Supreme Court

3. The Supreme Court of India, the first
fully independent Court for the
country, was set up under the
Constitution of India in 1950

Select the correct answer using the code

given below :

(a) 1,2and3

(b) 2 and 3 only

(¢) 1only

(d) 3only

8

9.

80.

81.

82.

8. Which of the following is / are the

example(s) of Transfer Payment(s) ?
1. Unemployment Allowance

2. Payment of Salary

3. Social Security Payments

4. Old age Pension

Select the correct answer using the code
given below :

(a) 1and 3 only
(b) 1,2 and 3 only
(c) 1,3 and4 only

(d) None of the above

The Erawan shrine; which witnessed a major
bomb blast in August 2015, is located at :
(a) Singapore

(b) Bangkok

(¢) Kuala Lumpur

(d) Kabul

Who among the following is the first Indian
sportsperson to reach the finals in the World
Badminton Championship (Women) in 2015 ?
(@ JwalaGutta

(b) /Saina Nehwal

(c) P.V. Sindhu

(d) Madhumita Bisht

Which one of the following Articles /
Schedules in the Constitution of India deals
with Autonomous District Councils ?

(a) Eighth Schedule
(b) Article 370

(¢) Sixth Schedule
(d) Article 250

Which of the following statements with
regard to UID / Aadhar Card are correct?

1. It is a 12 digit unique form of
identification for all residents of India

2. Itis an identity number along with the
biometric information of the
individuals

3. Itisanational identity and citizenship card

Select the correct answer using the code
given below:

(a) 2and 3 only
(b) 1 and 2 only
(¢) 1and3 only
(d 1,2and3

(Contd.)
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74, Rd & -} F g ¥ geig Al J

Y P w9 ?

1. Tegyfa & Ao orae § fd) soerdt
T SHR # w2

2. scufa teeyr gy a9 i Y dehdl
g 9E e 95 4 &

30 YR # SIRIA U] TSadeT

1T T Gl 2
4, Ui I NTA- ARG Qg5
e ¥ AER I Tl ®
AT R 7 e 1y X L IR G

(a) 132

) R 184

73

(c) ae 334
(d) 1,334

mw%wﬁﬁf%.wmww?

(a) Snft

o (b) AT
ey it

76.

(d) "=urht

%w%_;zﬁﬁrmmwm?
(a) e

() T

ey werd

78

(d) e

frefeféa oAl | 8 SE/& g6 82 ?

. @HE (@ ) falae |fear T gl wr
%Hg’w%aﬁzuirmﬁfa%m
Lol

2. T fawal ¥ wra ¥ gvu/Aamed @

FouaH e A T LIESDII
e, SIS X 5

3. WRA #1 ITEaH OWRE, W @ R

wr qofey ¥ T A, AR $
i & sl 1950 3 wofa fsam

(a) 1,233
(b) dad 23T 3
(c) @ad 1

(d) Fad 3

78.

.

80.

81.

82.

AR R T w1 W Y wE I g

19

frefofea ® @ FFa/a s grm 3
3IeET & 7

1. SUST s

2. JdF Y

3. ISR R e

4. 9gEEd G

A e T e 1w HT EEr I g
(a) ®ad 1303

(b) @ad 1,233

(c) ®ad 1,334

(d) 39w # & I A

MY, W8l AMe2015 H T weT 9H
%ganm mwf@aﬁ%?w '
(a) RmgR
(b) CEACD
(c) BTG
(d) =1
Frfiiae ¥ § 9, @8
%aﬁzm as’fﬁz—vf%ﬁqmﬁm

H. TR qg‘tﬁ
(a) | Seret et
(b) dTFTT FeawT
(c) drd &g
(d) wgfar fase

UID/mmaﬁm‘%wuﬁﬁmﬁ&ﬂﬁ%
H F HU el g 7

L %W%mﬁﬁmﬁﬁra‘wmw
FT 12 3l &7 Th 379 &9 &

2. Ul A dafrd W 3wy o
EEGIE i i

3. U8 U U 9BE 3R ATRedl s 8
e Rl T e w1 Y wd I g
(a) @adT 2303

(b) @acT 132

(c) ®ad 133

(d) 1,233

(Contd.)
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Which of the following statements about
Comptroller and Auditor General of India
(CAGQG) are correct ?

1. The CAG will hold office for a period
of six years from the date he assumes
the office. He shall vacate office on
attaining the age of 65 years, if earlier
than the expiry of the 6 year term

2. The powers of CAG are derived from
the Constitution of India

3. The CAG is a multi-member body
appointed by the President of India in
consultation with the Prime Minister
and the Council of Ministers

4. The CAG may be removed by the
President only on an address from both
Houses of Parliament, on the grounds
of proved misbehavior or incapacity

Select the correct answer using the code
given below :

(a) 1,2 and4
(b) 1,2and3
(¢) 3and4

(d) 1and2 only

Human Development Report for each year
at global level is published by :

(a) WTO

(b) World Bank
(c) UNDP

(d) IMF

Which one among the following statements
about the 'coins of the Gupta rulers is
correct ?

(a) The obverse and reverse, both, had
only the king’s portrait and date

(b) The obverse and reverse, both, had
only an image of a deity and date

(¢) The obverse generally had king’s

portrait and reverse had an image of a

deity or a motif

The obverse generally had king’s

portrait and reverse always had a date

(d

The agrahara in early India was:

(a) the name of a village or land granted
to Brahmins
(b)

the garland of flowers of Agar
(c) the grant of land to officers and soldiers
(d)

land or village settled by Vaishya
farmers

20

87.

88.

89.

90.

Which of the following statements relating
to the Scheduled Tribes and Other
Traditional Forest Dwellers (Recognition of
Forest Rights) Act, 2006 are correct ?

1. The Act recognizes forest rights of
forest dwelling Scheduled Tribes who
have been occupying the forest land
before October 25, 1980

2. The onus of implementation of the Act
lies at the level of the State / UT
Governments

3. The Act seeks to recognize and vest
certain forest rights in the forest
dwelling Scheduled Tribes and other

_traditional forest'dwellers

Select the correct answer, using the code

- given below :

(a) 1and2only
(b) 2and 3 only
(¢) 1and3 only
(d)~1,2and 3

Leander Paes won the US Open Mixed
Doubles Tennis Title (2015) partnering
with :

(a) Kristina Mladenovic

(b) Flavia Pennetta

(c) Martina Hingis

(d) Sania Mirza

Who among the following is the winner of
the World Food Prize (year 2015)?

(a) Sanjaya Rajaram

(b) Baldev Singh Dhillon
(c) Sir Fazle Hasan Abed
(d) Rajendra Singh Paroda

In which one of the following judgments of
the Constitutional Bench of the Supreme
Court of India, the ‘rarest of rare’ principle
in the award of death penalty was first laid
down ?

(a) Bachan Singh v. State of Punjab (1980)

(b) Gopalanachari v. State of Kerala
(1980)

(¢) Dr. Upendra Baxi v. State of UP (1983)

(d)

Tukaram v. State of Maharashtra
(1979)

(Contd.)
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83. WA & FrFs-weriaTde® (CAG) & a1k

A Freafafas § @ #1998 sug w8 2 2

1. CAG, 9% 7Y ¢4 %I iy § 69 a&
9% U0 AN | 98 65 a9 &) g g
FT O T, e WET 639 Y 3@l g
B W 9Bl &, yg Req ¢ am

2. CAG®! wifdal wikd & dfawrT § ogege=

Bt &

3. CAG 9uHHA 3R AEaRug 4 qae
T IRd & Isedly grr Prgad o
sg-wew ey 2 ‘

4. CAG®!, &g Far=mr a1 3erar & fur
X, EE B AAL FGA I TG [he
W U8, WSSl gIRT gl S GehdT 2

T R 1y ®e F1 W HRwE I gAY

(@) 1,234

(b) 1,233

(c) 334

(d) Fad 132

999 X 9 U a8 @ "ia REm e
fores g uhIferT # siar & 7

(a) WTO
(b) faga &=
(c) UNDP
(d) IMF
gt & R B 7 e 7
T U9, ol 8 7
(a) FEH 3 ISSATT QT 9T Baed Gl
1 oy R Ry B 4
HEHT 3 JSIAT QAT 4R el el
Saar = gfqer i fafr A o6
HEHIT 9 GO OOl @ e 3R
IESHIT U fET Sadr ) gfewr o g
FUE Bl B A

HEHN 9 GG e o7 e aik
gssHIT 9 gAen fafr g o

URIPE 9a § 3T Far op ?

(a) TRV 1 S Ma qr qfF 1 A
(b) 3FIR & Gl @ A

(c) siferTiRal i A+ A 9y srgem
(d) v FOH' grRT qEm ga A A

(b)
(c)

(d)

21

87.

88.

89.

90.

IR Sy X I Ui aearndy

(a7 st =1 Arwan) sfafrw, 2006

g5 § freAfoied § @ F19 FuT 9 8 7

1. g8 sfaFwE, aam ERELGPI
&, Rrr 25 sea, 19803 qd & o
W TR T@d 2, 97 ARHR B wEE
Y& FIl B

2. =@ IRfyom +r snfffag +0 #7 W
;wmﬂwéﬁwﬁ%wwﬁm

3. ¥ fafgy aaar A
M 370 TR [ HD G
SRR S H= dar & Y 39 Afed
RGN

i Q3 T s i wan w e 3w g

(a) ®ad 132

(b) Had 2 3 3

(c) Had 133

(d) 1,233

ferdgy ¥ 7 US i fAees soer 29 erged
(2015) fasr qmEEr & o ?

(a) FredT™ =R

(b) wfam Ter

(c) WA B

(d) @ifyar Pt

e & & w4, favg @ qeer (@@
2015) 1. fsrr 2 2

(@) €Y [EH

(b) Weiea e feeet
(c) ¥ Whuiel BE 3@
(d) % s qsT

WA & I=daH ey 9 qifdentre =mdis
& Frafofea 3 @ 9w Pofo & gae
a@ﬁuﬁamﬁ%fﬁnﬁﬁﬁﬁw’%ﬁ
I gl STX AR fhar mr ?

(a) s99 fdE o g TS (1980)

(b) AT T Feer T (1980)
(c) ST 3% @l T IR Tow U4 (1983)
(d) THFUH TAM HBRISE T (1979)
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Consider the following statements about the
President of India:

1. The President has the right to address
and send message to the Council of
Ministers to elicit specific information

2. The President can call for information
relating to proposals for legislation

3. All decisions of the Council of
Ministers relating to administration of
the Union must be communicated to
the President

Which of the statements given above are
correct ?

(a) 1and3 only
(b) 2 and 3/0nly
(¢) 1and2 only
(d) 1,2 and3

In which one of the following cases, the
Constitutional validity of the Muslim
Women (Protection of Rights of Divoree)
Act 1986, was upheld by the Supreme Court
of India ? ‘

(a) Muhammad Ahmed Khan v. Shah
Bano Begum

Danial Latifi v. Union of India
Mary Roy v. State of Kerala
Shankari Prasad v. Union of India

(b)
(c)
(d)

Which of the'following statements about the

Vijayanagara Empire 1s /‘are true?

1. The kings claimed to rule on'behalf of
the God Virupaksha

2. Rulers used the title “Hindu Suratrana”
to indicate their close links v_vith Gods

3. All royal orders were signed in
Kannada, Sanskrit and Tamil

4. Royal portrait sculpture was now
displayed in temples

Select the correct answer using the code

given below :

(a) 4 only

(b) land 2 only

(¢) 1,2and3

(d) 1,2and4

94.

95,

96.

97.

98.

22

Igta in medieval India meant:

(a) land assigned to religious personnel for
spiritual purposes

(b) land revenue from different territorial
units assigned to army officers

©

(d)

charity for educational and cultural
activities
the rights of the zamindar

Which one of the following books was not
illustrated with paintings in Akbar’s court ?
(a) Hamzanama

(b) Razmnama

(¢) Baburnama

(d) Tarikh-i-Alfi

Which of the following is nof a ‘Public
Good’ 7

(a) Llectricity

(b) 4 National Defence

(c) Light House

(d) PRublic Parks

Which one of the following is nof among
the 2ims of the Second Five Year Plan
(1956-57 to 1960-61) ?

(a) Rapid industrialization with particular
emphasis on the development of basic
and heavy industries

Large expansion of employment
opportunities

Achieve self-sufficiency in food grains
and ingrease agricultural production to
meet the requirements of industry and
exports

Reduction of inequalities in income
and wealth and a more even
distribution of economic power

(b)
(c)

(d)

The National Policy for Children, 2013
recognizes every person as a child below
the age of :

(a) 12 years
(b) 14 years
(c) 16 years
(d) 18 years

(Contd.) ‘
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WA & Toeafd & ok § i s w

ﬁwﬁﬁ‘m:

1. gyia @ [Bfine Sl 9 @ Rig
HAuRyg 1 Faa w3 @1 AT g
A T YRR B

2. egufd faur fawes geumeEmei @ g6l
STAHT HAT g B

3. H9 & gumaq wedl Ahofee & wsd
fafrer gy A1 sgfe g o1 g

SogFd A ¥ S FUT g g 7

(a) ®ad 1303

(b) @ad 2 A 3

(c) ®ad | HX2

(d 1,233 |

fPreafofe § & &9 wh Amd 8 9Ra &

I=IaH T g, Jieem el ([Fae-fasss

O ARSI H&T) T 1986 I wifguiya

QYT T STAICT fhaT T 7

(a) HEWAT 3{BAC @I S e T S

(b) T A T qIRG G

(c) W g 9919 et oA

(d) w8 gEE FAH 9RG G

s wrem & R # it § ¥

HFE/H FYT e 8/8 °

1. TRl A e fdeaer 9 6% § e
FLA BT qrErfanar

2. wEel A IFdnil & Y IEAl ufass
gqerar a7 & fog ey g
Iuifyr &1 gan faa

3. gl TOR el uX s, W 3R

- dfe # swane e 9 A

4. ot ampla AR s AR F weffa &
ST o

A R W Fe A W R EE I g

(a) Had 4

(b) Fad 13X 2

() 1,23M3

(d) 1,234

94.

95,

96.

97.

98.

HEHTCNT WG § ‘gaar’ ol &1 o o7 ?

(a) 3mefcHs waeH @ forg aififes et
EARIEIR E

(b) &g RN i g R yRRw
S | U §-oT

(c) MrF AR Wil framad & R
|

(d) FHieR &

ﬁmﬁﬁqﬂﬁﬁaﬁ‘—rﬁww
AR & A § afowq 728 o ?
(a) EFTTHT

(b) TEHATAT

(c) wrE<TTET

(d) ardia-v-sreg

FreiGiee & § e aEsfes oy’ 7@ E ?
(a) [ fororett

(b) ST &M

(c) HhTeT &N

(d) wdufye I

Freafcias ® ¥ fi9ar w, Bdy veadfy

ST (1956-57 § 1960-61) 2wl & @

T e ?

(a) SR $R =18 3 B (e 9w
a9 57 & gray ot ¥ e

(b)  USTTR & 3FER T ey A&

(c) @Rl ® NeArTHRar e s aur
UM I Frafa 1 srexdl A1 qu s
@ fo H IeaeT F dgrT

(d) 3 R HuRky & EAEEART 1 geEn
3R Sniien ikt 7 sea i wHEY
EREU|

T ST A, 2013, Rrat sy & i S
ToUd ST I STereh A 8 7

(a) 123
(b) 14T
(c) 16T
(d) 187

FFEIT P
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Which one of the following is nof a
monitorable target of the Beti Bachao Beti
Padhao Abhiyan ? '

(a) Provide girls’ toilet in every school in
100 Child Sex Ratio (CSR) districts by
the year 2017

100 percent girls’ enrolment in
secondary education by the year 2020

Promote a protective environment for
girl children through implementation
of Protection of Children from Sexual
Offences (POCSO)Act, 2012

Train Elected Representatives«/
Grassroot functionaries as Community
Champions to_mobilize communities
to improve CSR and promote girl’s
education

(b)
(©)

(d)

Which one of the following is net an
objective of the Rashtriya Uchchatar
Shiksha Abhiyan (RUSA)?

(a) Improve the overall quality of private
educational institutions
(b)

Ensure reforms in the affiliation,
academic and examination systems

(c)

(d)

Correct regional imbalances in access
to higher education

Create an enabling atmosphere in the
higher educational institutions to
devote themselves to research and
innovations

Which of the following statements with
regard to preventive detention in India
is / are correct.?

1. The detenue has no rights other than
those mentioned in clauses(4) and (5)
of Article 22 of Constitution of India

2. The detenue has a right to challenge
the detention order on the ground that

he was already in jail when the

detention order was passed

3. The detenue can claim bail on the
ground that he has been in prison
beyond twenty-four hours without an
order of the magistrate

Select the correct answer using the code
given below :

(a) 1and 2 only
(b) 2only

(¢) 3only

(d 1,2and3

24

102.

103.

104.

105.

A Member of Lok Sabha does nof become
disqualified to continue as a Member of the
House if the Member :

(a) voluntarily gives up his / her
membership of the political party from
which he / she was elected

is expelled by the political party from
which he / she had been elected to the
House

(b)

(c) joins a political party after being
elected as an independent candidate

(d)

abstains from™veting contrary to the
direction by his./ her political party

Which one of the following languages is not
recognized in the Eighth Schedule to the
Constitution of India ?

(a) English
(b) «Sanskrit
(c) Urdu
(d) Nepali

Which kingdom did the temple of Hazara
Rama belong to ?

(a) Avadh

(b) Travancore
(c) Vijayanagara
(d) Ahom

Consider the following statements about
votive inscriptions in the second century
BC:

1. They record gifts made to religious
institutions

2. They tell us about the idea of
transference of the meritorious results
of the action of one person to another
person

Which of the statements given above is /
are correct ?

(a)
(b)
(c)
(d

1 only

2 only

Both 1 and 2
Neither 1 nor 2

(Contd.)
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99. Frffed & ¥ e s, ‘3T guEy 3

Tgr3t S 1 Wi B 9 A deg

T e 7

(a) @9 2017d% 100 sTeT fofiT 391 (CSR)

arel ol & el femem § e &

fore o Suersy ST

as 2020 a HreafeE Bren ¥ 100 yiie

ifermsi &1 ARiET

ard A q9Ig X (POCSO)

AT, 2012 F St gy SR

& fore dvewr & oRaw 1 gadq

Fyaffera fafiaa/ smafe seisats #

e & BARE ( a"r%ﬁr—r)%

&9 H il e g Cal

CSR 9d¥ 9717 o1 sTierian & fareqy

& dadq & R gufeq w1

Prefofta § & fTm w, gy Fewar

frerr sfmETT (RUSA)' &1 3290 7et 8 7

(a) i fuen deart & wor e @
BT T

(b) wey, Ak AT g SaA F gER

HAT

(c) 3=aa¥ MIen oF 9ga § & g
T AT

(d) Y R FauadAl oq @9 @ qHGT
T F fow Ieuq Rem geyE)
amdsrd) wEe Biftfa o

ad ¥ frans Frig @ ) & Brefited

(b)

(d)

1. g o 1 IR diaer & sjee 22
& @S (4) 3 (5) N SheaRaa dfuar &
ﬁam%‘{sr%r{aﬁ%

2. Freg =fd = PaRw/@ g s
R YA 3 1 A B & e e
gﬁﬁfﬁﬁmwma@sﬂ%%ﬁ%é’réﬁ
o[

3. Freg aofdd 5@ s W s @ aE
F GH 8 & 98 AvES T & ) amm
& o7 € Dy 92T ¥ 3ifie o A
& g B

ﬁ%ﬁﬁ@ﬁgﬂmﬁﬂﬁwgﬁq;

(a) Fad 132 .

(b) FacT 2

(c) Fad 3

(d) 1,233

102.

103.

104.

105.

AHHHT FT P13 G TST F7 G967 99 @
¥ ffEa 78 & s, o 98 gew

(@) T v fas 30 3 Faffa 8% angr
J/3Er Nt 99 AfRes w7 F g
HIEAl DTS AT/ @

o Torfifoe oo & wet ¥ Praff gan
ul/g% O, 3ud Preifyg &< gy mar @
LER]

TF Wad IPfgaR & &9 § g
B & g B qefRe qw A
qitwford 8 rr 2

Y-S oo g Ru Ty PR &
fqulid Heaerq @ gfava ear &

Freafelem ol § & 5w @ v @
a1 sedt s & A 78 &
g7

(a) STy

(b) werd

(©) 9%
(d) Fue

&SI A Hiex fohe oy F a7 ?

(a) gy

(b) FEHIT

(c) IEELERIES

(d) s |

O wdeeh BC ¥ gafoud ot & a A

Freffad F 9 REr R

1. 399 i geuRl ® R 1w 3wt &
g 2

2. 9 UF @ @ w9 3 gusy yRum
1 37 ik H 39 8 & e
® R H ga &

ITE FUAT A A FAE/A " 28 2

(a) Fac |

(b) hae 2

(¢) 13M23AY

(d Ad 1,782

(b)

(©

(d)

(Contd.)
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Consider the following statements :

1. Abhinavagupta wrote a comprehensive
treatise called the Tantraloka which
systematically presents the teachings
of the Kula and Trika systems

2. The Samaraichchakaha by Haribhadra
Suri written in Gujarat around the
eighth century is technically not a
tantric work but is saturated with
tantric ideas and practices

Which of the statements given above is /
are correct ?

(a) 1only

(b) 2 only

(¢) Both1and2
(d) Neither 1 nor 2

Which of the following is/are example(s)
of ‘Near Money” ?

1. Treasury Bill

2. Credit Card

3.  Savings accounts and small time
deposits

4, Retail money market mutual funds

Select the correct answer using the code
given below :

(a) 1only
(b) 2only
(¢) 1,2and3
(d) 1,3and 4

Which one of the following terms is used in
Economics to denote a technique for
avoiding a risk by making a counteracting
transaction ?

(a)
(b)
(©)
(d)

Dumping
Hedging
Discounting
Deflating

Join Telegram : https://t.me/defenceekaksha
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109. ‘Citizenfour’, the 87" Academy Award

110.

111.

winner in the category of documentary
feature, is based on the life of :

(a) Abraham Lincoln
(b) Albert Einstein
(¢) Edward Snowden
(d) Laura Poitras

Which one of the following is nof a thrust
area in the Railway Budget 2015-16 7

(@) Online booking of disposable bed rolls

(b) Defence Travel System to eliminate
‘Warrants

180 days in advance ticket booking
facility for passengers

Bio-toilets

(©)
(d)

Which one of the following services of
India Post has permanently been

- discontinued ?

112.

113.

(a) Money Order

(b) < Telegram

(¢) Postal Life Insurance
(d) Inland Letter

The category of ‘Overseas Citizens of India’
was entered in the Citizenship Act of India
through an amendment in the year :

(a) 1986
(b). 1992
(c) 1996
(d) 2003

The Right to Education was added to the
Fundamental Rights in the Constitution of
India through the :

(a) Constitution (86™ Amendment) Act,
2002

Constitution (93 Amendment) Act,
2005

Constitution (87" Amendment) Act,
2003

Constitution (97" Amendment) Act,
2011

(®)
(c)
(d)

(Contd.)
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106. Frefofad wueT o = Sk

107.

108.

1. IS 3 ‘GAAE AHE U A
gy forar o ‘ger AR B @ A
farems ol egafud &9 & weqe wear @

2. SMEdT TS H HQUE [EE F aRR
R R foifea ‘grizaser amel 9
§ ®3 qifrw Fh A6 & ey dibe
foari 3T gumli F ek

Iwad FuAl § ¥ FAa/d 98 28 7

(a) Fad |

(b) waa 2

(c) 132t

(d 7D L,TE2

fFrefofea 3§ SFa/8 s wma S5
I8 8/3 0

1. 9

2. #T wE

3. §9d @ o SedEiy SHi

4. GaU YRl SN & e %S

e fo e & wam Y g IR 9T
(a) *ad 1

(b) a2

(€ 1,2%3

(d 1,334

Frfafaa ol # & Fiar v, sedore §

it HedeTR g e & 9ier & aelE
& fore gt e @ ?

(a) NI 9T

(b) BRI FEAT

(c) Fe=rdr (SwpmafeeT) &

(d) 3EEHI FeAT

27

109. 31 & =t Aot 7 8741 ST 3frs eare,

110.

11

TafeTTR fras e 9 smaifRa & ?
(a) 3rseH fofm

(b) ICIE STEHTEA

(c) TSTS wHIeA

(d) < @mn

Prefifed 3 & @iar o & 9 A 7@ e

9T 2015-16 % X sole § 3 sa foar

MR Y

(@) FRe Rt 1 e i

(b) fRAT & PreaT g <& am woreh

(c) =il & ferg 180 ot weot fowre ik
o g

(d) SE-eiEEy

<isar mee $ FEfofea farst § &

U @ el ®F § §¢ hY feur a2 7

(a) HA-3MEX '

(b) @

(c) Sm& Sitaq

(d) sl =

i 5

113.

T & yaE Anied @ A v @
iR SR & ey g B oo &
gfase $hars ?

(a)" 1986
(b) 1992
(c) 1996
(d) 2003

fareT <1 SHERIX, sTeet = i ¥ 9o e
# e deme gy e w7

(a) ®fagr (86ar @ane) sfaf~am, 2002
(b) wfaur (93a1 wenhe) fafaw, 2005
(c) wfwm (874t welam) fifrem, 2003
(d) €fRgm (97at wea) sfRfm, 2011

(Contd.)
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LET’S LEARN TOGETHER

Consider the following statements :

1. The inscriptions on the pillar at
Rummindei give vivid details of
Ashoka’s Dhamma

2. The Nigalisagar inscription records the
fact of Ashoka having visited the
Konagamana stupa _

Which of the statements given above is
are correct ?

(a) 1only

(b) 2 only

(c) Both1and2
(d) Neither I nor 2

Consider thedfollowing statements :

1. The province of Assam was created in
the year 1911

2. Elevendistricts comprising Assam were
separated from the Lieutenant
Governorship of Bengal and established
as an independent adminisfration under
a Chief Commissioner in the year 1874

Which of the statements given above:is /
are correct? :

(a) 1 only

(b) 2only

(¢) Both1 and?2
(d) Neither | nor 2

Which of the\following statements is / are
true ?

1. Faxian’s Gaoseng Faxian Zhuan was
the earliest first-hand Chingése aecount
of Buddhist sites and practices in India

2. Faxian was only 25 years old at the
time of writing the text

3. Faxian’s main aim in coming to India
was to obtain and take back texts
containing monastic rules

Select the correct answer using the code
given below :

(a) 1,2and3
(b) 2 only

(¢) 1and3only
(d) 3 only

28
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Which of the following statements are
correct ?

1.  Ability to pay principle of taxation holds
that the amount of taxes people pay
should relate to their income or wealth

2. The Benefit Principle of taxation states
that individuals should be taxed in
proportion to the benefit they receive
from Government programmes

3. A progressive tax takes a larger share
of tax from poor families than it does
from rich families

4, Indirect taxes have the advantage of
being cheaper-and.gasier to collect

Select the correct answer, using the code
given below :

(a) 1and3only

(b) 2and 4 only

(¢) 1,2 and 4 only

(d 1,2,3and4

Which of the following statement(s) is /are
false ? '

I Wage Boards are tripartite in nature,
with representatives from workers,
émployers and independent members

2. Except for the Wage Boards for
Journalists and Non-Journalists, all the
other wage boards are statutory in nature

3. Second National Commission on
Labour has recommended against the
utility of wage boards

Select the correet answer using the code
given below :

(a) 1 only

(b) 2 only

(c) “Land 2 enly

(d) 1,2and3

The rank of Major General in Indian Army
is equivalent to :

(a) Air Marshal in Indian Air Force

(b) Rear Admiral in Indian Navy

(c) Air Commodore inIndian Air Force
(d) Commodore in Indian Navy

Among the currently operational Indian
Satellites, there is no :

(a) Communication satellite

(b) Navigation satellite

(c) Earth observation satellite

(d) Jupiter orbiter satellite
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117. P wuaY & § A wdr § 7

114. Frefefea Foi o e i
1. &TeE & @y ) It ag aehs &
‘gE T gErse faawr 3§
2. Ffemm R sele g S
Wﬁgwwm%wmaﬁﬁ@
T

SWF FUET B FrE/A gd 22 7
(a) ®ad 1 -
(b) @Fad 2

() 13R23MT

(d Fd@1,7&2

115. el syt o3 e iR
I s uid = 1911 % gf far mar o

2. a9 1874% @A  sigid 11 R
ST A Wit de TEAd F ¥ g %
fRT T R wh i FHE F ST
A YU b ®9 A it e

I FA § @ S gg 22 ?
(a) ad 1

(b) a2

(c) 13R23H]

(d T, F&2

IIG.W%Hﬁﬁﬁ%W/ﬁW%/%?
1. ISATT 1 IS HIRATT GorrT MK
# 9 e R gl # el s

@l =Y e o1

2. U8 Uy forad iy wikar R 25 a8
o

3. WIEdT @ WRd 3 F YHE 329 I
- Ul A YT HRAT AT AT A ST o
o s & Fram siaffse ¥

ﬁ%ﬁhnﬁagrﬂmawaé’rwgﬁq;
(@ 1,233.

(b) @ad 2

(c) ®ad 133

(d) a3
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118.

119.

120.

®

I & F I & a5 Rigid a8
AT & o Y A Rl @
YA F3d 8, 96 IS 1T T g9y 3
qer BT =ifey

2. Fud #1 fa-am Rgia 8 samr 2
f_efdmdl = Y, weE weea
3% e awt Ra-am & s 3 e
ST =18y

3. 9UHE FT g aRaRY ¥ Fe &1 R
HIT o 8, FrefT et & e aRer
HfEH AT U FA

4. YT HU FT WIS & F ¥ I
Wﬁﬁ%@?mﬁmﬁﬁa?

A fo2 74 e F1 T F T IR P
(a) Hae 133

(b) I 2 A 4

() Fad 1,234

(d) 1,2,33%4

Frefofen st ¥ @ SR s/ 7
J IS el Tey & o & Re
SN, FEEIRT 7 @6y gea 3

3. %ﬁuv@qmm%u—v\gﬁaﬁﬁﬁ
ST & fawe o &

:ﬁ%ﬁﬁwﬁﬁzwmmaﬁsﬁ“{gﬁn;

(a) a1

(b) Hae 2

(¢) I 182

(d 1,233

WW%WWW%WW@W%?
(a) 9RAT Ay &1 F wx Al

(b) AR a1 F Rz wsfixd

(c) IR ag F1 ¥ W FH1ER

(d) IR /AT F FAER

AT H el R It § A o
(a) EOR IUUE & 2

(b) EEeH IyUE TEF R

(c) Y QeAv1 IuUE FEF R

(d) gewfy wefly Sums =&F 2
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.. ®
r ST TF HTTET 98 G gRaE @ied FF T FET @i a9 a7 @rd J

AAH. : B-ABPA-P-KOR qleror g SEHe

{ T GIETRT j
AT 711

(7 2 ) |
e

1. TR WroW SR geaETE, SS9 TOevr gitasr @ gsdrd SsiEed, w3
Fr$ fAT BN, Ber AT WET TAT YT Ul WL e A #| Al Y
gdreror gitr @ aew Wil |

¥
al, ay
4,3

A,B,Cmnﬁ,m%@ﬁmmﬁmﬁﬁﬁ%wﬁﬁtwmﬁﬁw
Srfieare & 21 R s wwe @ =Rt A Rufy ® See-mEe P w1 R
ST |
3. %9 e giRahl 98 aiE {1 RE T pises # STl
msrgmaﬁ%w%wﬁwgrﬁfamﬂaﬁ?@[ J
7 foe |
4. zaqﬁamgﬁﬂwﬁlzow(w)ﬁqwﬁluﬁﬁwmﬁaﬁsﬁ?aﬁﬁﬁﬁa’fﬁw
%lu@mwiiwgfgﬁ?(w)ﬁqm%umﬁ%wmﬁgqﬁ,ﬁﬁmw-m
T aifbd AOT AT B AR ST YET o U & e Segek §el 8, 96 wged A
sfd FU S SR waTH o | U ST $ R FEw @F @ Yeged g B
5. anqa%rm%wﬁrgfgﬂrw%ﬁqu—mwﬁa‘%mﬁ%|w—wﬁﬁqmﬁﬁm|
6. @ yTAIR ® 3H FAA Bl :
7. TR TEX ProSw JOET qRawL @ B I $ YT I WHEd F IR
Tﬁ,WWW-W%W&WS@W%W@R@WW—W&%%
8. WWHﬁWﬁﬁW—WﬁW%WHWT&%%WWWW—W
seferm B GY <1 ST o Y qOE gReE AUST A STAf 2
9. F=¥ W B fY wHAw GEW gRae H ¥ A AT el
10. e Sad & g uw o
qrE-gEt ¥ Sefear g Ru g oea Sad & fog wve fear sl
(i)mw%ﬁmaﬁ%ﬁwm%lsﬂﬂﬁmmmw%ﬁmﬁqﬂqu
W%%rqm%gﬁuﬁ%qmaﬁwqm—ﬁﬁéw%wﬁmml
(ii)ﬁﬁémﬁﬂ@ﬁmww%,ﬁaﬁw«wwm,wﬁﬁu
eI B Y e ST g o 8, B R 9w e @ g SwrEn @ S ate
1 qUs feur ST |
(iii)aﬁmmmﬁéWHaﬁaﬁ%mW%,mhsﬂﬁwmwﬁﬁm
W 2, @ 99 ued & fg ws qvs A fRwr sy

( WWW%V@WW’W&##WWWW#@# J

Note : English version of the instructions is printed on the front cover of this Booklet.
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